
/
$VVRFLDWLRQ
3DUPLV�(OOHV

/D�0DLVRQ
9HUWH

JUHHQKRXVHV

WUHH
VHHGOLQJV

��ORFDO
UHVWDXUDQWV

��JURFHU\
VWRUHV

FRPPXQLW\
PHPEHUV

SULYDWH
IRUHVW

PDQDJHPHQW
FRPSDQLHV

VDOHV

<RXWK�*URXS�
)XQGUDLVHU

IXQGUDLVHU

&6$
IRRG�EDVNHW

IDUPHUV
PDUNHW

VDOHV

SURGXFH

VRFLDO
HQWHUSULVH
��GLUHFWRUV

���ODERXU
��YROXQWHHUV

JLIW
VWRUH

SURGXFH

/DQG6DJD
VSHFLDO�DQG
UHVHDUFK
SURMHFWV

1RUG�$VNL ZHEVLWH
)DFHERRN

���&6$�
PHPEHUV

ORFDO
SURGXFHUV

PXOWL�
SURGXFHU
&6$

VDOHV

SUH�VDOHV
�VKDUHV�

0LFURWHN

PDQDJHPHQW

)RRG�%DQNH[FHVV
WRPDWRHV
�FXFXPEHUV

GRQDWLRQSURILW

SURILW

,QSXWV
�
$FWLYLWLHV
�

,1,7,$7,9(

�38%/,&�

�35,9$7(�

�,17(51(7�

�&,7,=(1�

5(6285&(6
�

$VVHWV
�

���IXQGLQJ

���IXQGLQJ

���HPSOR\HHV
���)7���������37

DQWL�KXQJHU�
SJP��ZV�


